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Landolt-rings W-N
Picture C4: Landolt-rings W-N; PS operatomnn0*lin 1.0 exp setcmykcolor
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Radial grating (Siemens-star) N-Z Radial grating (Siemens-star) W-Z line raster diameter inIpi
Picture C1: Radial gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; PS oper.nnn0*lin 1.0 exp setcmykcol®&icture C5: Line raster under 45° (or 135°); PS operator0*lin 1.0 exp setcmykcolor
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Picture C2: 5 visual equidistabt-grey stepst NO + W1, PS operatomnn0*lin 1.0 exp setcmykcolor Picture C6: Line raster under 90° (or 0°); PS operatan0*lin 1.0 exp setcmykcolor

L*/Y-5,04 26.7/0.0 31.4/1.8 36.0/40 40.6/6.6 45.1/9.6 49.7/13.1 54.3/17.2 58.8/21.8 63.4/27.1 68.0/32.9 72.6/39.5 77.1/46.7 81.7/54.7 86.3/@315 980488B.5

(absolute)
Y=Yt+5,04
No. and

Hex code

*

:*ClELAB, t 0.0 0.154 0.253 0.33 0.398 0.461 0.52 0.577 0.633 0.687 0.741 0.794 0.846 0.897 0.949 1.0
CIELAB, t+r 0.0 0.067 0.133 0.2 0.267 0.333 0.4 0.467 0.533 0.6 0.667 0.733 0.8 0.867 0.933 1.0

Picture C3: 16 visual equidistalrit-grey steps; PS operatamn0*lin 1.0 exp setcmykcolor
] . ISO/IEC 15775 and input: nnn0*lin 1.0 exp setcmykcolor t
5 -_q_ ISO/IEC-test chart no. 3C accordlng[ﬁ)s ISO/IEC 19839-X;output:nnn0*lin 1.0 exp setcmykcol or
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